| | <
e I = — I T o 3
77777777 =i
: | i = » d | N
fffffffffffffffffff L,,,,,,,,, ,,,,,,,,,,,,,,,,,,,L,,,,,,,, |l O | co B \\\iF o ]
— *T — — *( e @RS B2 3@** =
= \ | == \ ! i
| i | ] | 3 15l 05
T Ty T Ty —— ) 3@
”””””””””” ] I I i A o~ 1] = ATUY I - FE
| | B
400 400
45] 1.7 387.3 2145 451 1.7 387.3 2145
7.8 280.5 101 7.8 280.5 101
4] 93 525, 905 [|5.25
e 18 IO B
J = == R =k
- =~ T . = T
J * —d J * N
30] 50 300 50 )9\ BBATYA- |30] 50 | 300 50 )9\ BEEY A~
<P=10> <P=12.5>
% BRDS (K| UBBHLERT
Xf% 2 {biiE 1 | SPHC-SS400 | w%aBnso & /(K] 28ttt 7 Vk-9Y2 VY
e i w S 1 |SPHC- SS400| wm@smn- % /1K) BBHE- - 7 VRk-I07
TU=F U ITBHEE —HRPITs o TWET, NO g 4 Ba | W& FEun 2
5 B Y| FAB | R EF|, . 7Ny b (ME BRE) o 3¢
=[R W] & (196.11] (/5 | 7| a8E s#R~1-28 Hroo00m mz | = D002180026
£ @] & | o TR UIO-2(K)-300 P=12.5/P=101  shag= ), s, o
%2 LEND R % A Blf8 %K B Ak B 6B | © P 58 U10IM-1(K)-300 P=12.5/p=10 #Ea# TR~V =3/

B BIg . o - B SRERRNERRRI LS,




